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àíZ 1 

 
 XrKm}Îmar àíZ gmoS>dm (H$moUVohr XmoZ) 

 
(40) 

1. l‘mMr d¡{eï²>¶o ñnï> H$am.  
2. Am¡Úmo{JH$ H$bh/{ddmXm§À¶m H$maUm§Mr MMm© H$am.  
3. ‘{hbm H$m‘Jmam§À¶m g‘ñ¶m g‘OmdyZ gm§Jm.  
4. l‘ J{VerbVm n[a^m{fV H$am? H$m‘Jmam§À¶m J{VerbVoda n[aUm‘ H$aUmè¶m KQ>H$m§Mo 

Vnerbdma dU©Z H$am. 
 

   
àíZ 2 WmoS>³¶mV CÎmao {bhm. (H$moUVohr VrZ) (30) 

1. H$m‘Jma nwadR>çmMo {ZYm©aH$ KQ>H$ ñnï> H$am.  
2. {H$‘mZ doVZ R>adÊ¶mV ¶oUmè¶m AS>MUr gm§Jm.  
3. H$m‘Jmam§Zm doVZmì¶{V[aº$ {‘iUmao BVa ‘mo~Xbo ñnï> H$am.  
4. ^maVmVrb ~oamoOJmarMo H$maU ñnï> H$am.  
5. ‘Owam§Mr CËnmXH$Vm dmT>dÊ¶mgmR>rMo Cnm¶ gm§Jm.  

   
àíZ 3 Q>rnm {bhm. (H$moUË¶mhr XmoZ) (30) 

1. l‘ AW©emómMo ‘hÎd  
2. l‘ J{VerbVoMo àH$ma  
3. l{‘H$ ~mOmamMr g§H$ënZm  
4. H$m‘Jma g§KQ>ZoMr d¡{eï²>¶o  

______________  
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Translation in English 

Sub: Economics of Labour (EDSE - 501) 
 

 
Instructions:  Attempt all questions.  

 

Q.1. 

 

Answer in detail (Any Two)  

 

(40) 

1. Explain the characteristics of labour.   

2. Discuss the reasons for industrial disputes.  

3. Explain the problems of female labours.  

4. Define Labour Mobility? Explain in detail the factors affecting on labour 

mobility. 

 

   
Q.2. Answer in brief (Any Three) (30) 

1. Explain the determinant factors of labour supply.   

2. State the problems in deciding the minimum wages.  

3. Explain the factors labours gets other than wages as a remuneration.  

4. Explain the reason for unemployment in India.  

5. State the remedies for increase the productivity of labour.  

   
Q.3. Write short notes. (Any Two) (30) 

1. Importance of Labour Economics   

2. Types of Labour mobility  

3. Concept of labour market  

4. Features of Trade union   

___________________ 
 


